(3) SHOGER (20245K) BHEEHRHER
PH6ESH 10H BFE

A B & Hm = smz] &5 [ #Hs |[[A[H]E B = smE| 215 | B4
&5 | 10 |GRO[LMEIFEHREHZIE | oo [pomnz| 8% | [am | 6 |(*2 FRAHEE EREHE| BT
65 | 11 |(K) SREES ERevs-| @i | |[6F | 9 |[(K) AL 3=F= ERes-| 7
4 14 |(B)[7" 3908 -3 wikims BH | ak-y 5 10 [(ED|ALEPEIBHIRARMTIE | bk [mmzEnE | A7
21 |(B)|#uigiEiLEw EXED| Hhig 12 (B9 5908 -7 WIRRE B | 2Ky
B |29 BDEERSZS5% #wROZ | FLE| | B | 19 |(B)|HigiELEFF GRED| i
23 (MMEXTEH M=) TR 4
A B & I sma| £15 | #HY H B M W = sma| £15 | By
& 2 |(h)|zEe 2115 viqaos BEE |F0F| || 4 (R KERZKER ERes-| A
6% | 7 ()| ABAFEHBERHIIE | o0 [wmzEnz| @5 | [6F |10 ()| LBAFHBRHIIE | oo [owmnz| @
6 9 (B)|1 390h -7 WIXFE BH | ak-y 1 21 |(B)|thigi =L EiR GERED| Hhis
13 |(K) EIEES ERev-| 875
B | 16 |(B)|#uigiEL &R exED| s | | B
23 |(B)|EqiG Atk -Y7120K 8 EmtkEm | Ak—y
29 |(1)| BEEREHE BH/ | g
30 |((B)|esmre AL—nR—F1— 1 Rk [BFD | (FTR)
A |8 B W = smE| £15 | 84 A |8 B = smE| 25 | BH
&% | 8 |((K) BEEEES EREV-| af| 5 |(R REEESR R | HTE
6% | 9 |UK)|ILEDIBHIEAHTIE | +xk [maEn=| £ 6% | g ((A)|r s T wERLERS RS B#H/D | Ak -Y
8 12 ((B)|~168 (&) mras vtk o (BN | (BTE) 9 10 [(®)|ALEPEIFHIRAHZIE | orx [wmzEnz | AF
18 |(B)| TMAMDRE] HER BHAN | 2K -y 21 [((D)|~22 (B) simumili o [SHT| (IX)
B |25 (B)|kzxs—tm szagER waznz| K@ || B
A | B E wm = smE| S5 | By B | B B H = smE| 215 | By
&f| 6 |((B)| rERE->Y ) #5557—0k BHMi| ZER| |af | 3 |BD)|FELRXRE VN BM EFAN| FLE
6% | 6 (B)|&h <A —VEDYSM mxanaE | Ak—y | [6%F | 3 [(B)|) 390h -3 WIRRES E&H | 2k -y
10 10 |(K) BEEER ERs-| B 11 7 0K RE&ZES ERe- | R
10 (K| EPEIEHIRIBAZIE | wokx [pomnz| 87 8 |(®)|LEEIEHIRMAZIE | wobx [wumnz | 75
B |13 (|BEERRFEFDOYXE | o |[xrevs— (BHER| | B | 10 [(B)|[Rx 45— - 2ASET weEnE [ L3R
13 (A7 7900 -3 WIRRE BHEA | AF-Y 10 |(B)|esms mxzi@s—7— | ek |BEF/AN | (ATR)
20 |(B)|Hhigi 1L B HERED| 17 [(B)|desipR R K— Y K& S0 Bl | 2K -y
20 (BD|\aY 4> R—F 40— BHN | BFOE 17 |(80)| #uig £k K w GERED| i
A | B E B = sma| 215 | #HY B | B B B = smE| £15 | #HY
% 1 [(B)|e#xire fOE ook (B | (BTR) | [afn | 10 |[(B)| L BEIFEHFEARIIE | ook [pwEnz| @55
6% | 5 |(K) BEEER R @3 | |7F |12 (D)) 390 -7 WIRFE B&H | AR -y
12 8 (A) U -2 WIKFRE BH | ak-y 1 16 |(R)| THEESEBRERR] RS- | RESR
10 | (B[ EEIEHIRIBAZIE | wokx [pomnz| B
B |15 (B)|&ER773)-a 49—k sxh |£8%(( B
26 |(K) IS EREV-| 7%
A8 & W = smE| 215 | #Y RN S smz| 215 | By
a1 6 (R HEEEL gRes-| 8% | [am| 6 |(R rERES R | BT
TH | 7 ()| tBOEHERHIIE | o pgEnz| 8% | |[TF | 7 ()| LBOBEHERHRIIE | ok pemnz| 05
2 9 (B|gErysyyraILyRKE BHN | 2K -y 3 9 |[(A)|ERBEEHARTEET weEnzE | [LI
16 [(B)| g =EER HERED| o 9 (A 39h T MIKRE B&H | 2Ky
= ES= BERER wEd | i || B | 9 |((B)|B8a -y7128 XiESM EXAk| K-y
RE UL BHN | FLE 15 [(D)|No 1 04EM ST H U HIT weEhE [ [RER
RE FAFZREREHE BHN | BHLE 16|(B)|Hhigh =1L F4E GRED| Hbsg
FHESREDOLMIETRICE T, 2)EWAE BEICLYEELSHYFTES TERLES,
[R3R = [LERED - Hhigh = this SE B &R - B D E=F D EBE RS-
ANy =RAR—VIRBE - R =LER-EES=FTEES

©)




